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I — e20023 (88507 &55)3)

01~ __ 02. 3> =3x3x3x3x3 [l]
03. 750 mg =71f)‘;g [1] 04, sbodce  =-— [1]
=0.75g [1] =35em’ [1]
05. {esef emien, 130 eien, O eies, BIE emies, B8dvbm ewmie} [2]
06. 2,22 2]
9 =g~
07. o809 20 X BEE X ¢t 08. 1401 — 01 — 01 [2]
= 50x30x100 [1]
= 150000em’  [1]
09.
(1] (1]
(i) (iv)
10. 3x+10y [2]

11. x-3 =12 12. 758 +0.8=28.38 [2]

Xx—3+3=12+3

x =15 [2]
6 6X5
13. 20 = 20x
.. 80
“q0¢ LI
03 [1]
(2] 15. 125=[5] [1]+[1]
10 cm
16. l ml 17. 20+25= 45
13 050 [1] [1]
- 7 075
5 975 [2]
18. oo o oo g3 emus = %+ -?1: = % = -z [1]
o Bow 988 o emoves = 1 -z = % [1]

19. OP=e&acs [1] PQ =8a@m®os [1]

20 P = 3x
42 = 3x [1]

42

X = —

3
x = 14 [1]




I — em00es (B80T ©)®)

crReR
01. | () 38kg 750 g+ 5 1
=7kg750 g 1
(i) 38 kg 750 g=38.75 kg
38.75 x 60 1
=g 2325.00 1
(i) 20 kg 500 g+ 500 g
=20 500 + 500 1
=41 1
@iv) 300kg+50 kg +38kg 750 g
+20kg500 g 1
=409kg250 g 1
\Y) 2kg250g x5 1
=11kg250g 1
(vi) 50kg 000 g
-11kg250 g 1
38kg 750 g 1
02. | () 8 2
24
(ii) 1.52 2
(iii) 307.8 2
(iv) 307.8 2
) 1§ 2
(vi) 4.53 x 17=77.01 2
03. | () eo.o. 4.45=04.45 2
(ii) 22.30 2
(iii) 22.30
-04.45
17.45 1
o e ICH e 17 88y 45 1
(iv) 21 o on obscs 2
) 203 £ eams 2
(vi) 98 x 750 1
=g 73 500 1
04. | (A) @) | (@ | PQT=90° 1
(b) | PTQ= e gow 1
(¢) | QPT = Bece avw 1
(ii) eI Semiens 1
(i) QPT (scvelsm) = Rence aocs 2
3) (i) @ - AC ¢ BC 1+1
Bbews — C 1
(ii) e 85° emienss e1@®. 2
50 580. 1
0S. | () 2006 Bemiens ¢1€®. 3
(ii) ABC ecs »® S$58. 1
(i) A 8o cPoms 2
(iv) B 8o c®omae 2
) 0 »B® $&e. 1
(vi) DS 2
(vii) OA &ds (Beroe o) 1

7




06. | @ | (@) Az 15 1
(ii) +5<+49 1
(iii) +3>0 1
(iv) 2<+5 1
) @) (-4) + (+10) = (+6) 1
(ii) (-7) + (+8) + (+9) = (+10) 1
(©) (i) 5 1 _ 25+ 8 1
8 5 40
33 1
(ii) 4% 2 38 8 1
ii
57-23= 773
_114-56 _ 58
) 2 21 1
7
(d) 7x(35-15+11
=7x20+11 1
=140+11
=151 1
07. | (a) 30=2x3x5 1
45=3%x3x5 1
(b) 30=2x3x5=2x3x5
45=3x3x5=3%x5
.680.Q. =2 X 32 x5 !
=90 !
() 30=2 x
45=3 @g
®.eene. =3 x5
=15 1
1
(d) (0)) eas.o. 5.00 +8. 90
=ee.o. 500 +s7. 18. 30 1
=ee.0. 6.30 1
(ii) 5.00, 6.30, 8.00 1
&nJ 3 1
(e) ®.een.e. =15 1
2788 v cod® sbesE v =15 1
08. | (a) 58880 =2+2+1+2+4+1+7+1 1
=20 cm 1
(b) (i) 21 km 350 m+ 7=3km 050 m =3050m =3.05 km 2
(ii) 322 cm S mm + 5 2
=645mm oe®» 64cm S mm e’ 64.5 cm
(iii) 12 km 7m x 8 =12007 x 8 2
=96056 m
e®3 96.056 kim e»3 96 km 56 m
(©) @) 12=x+3
12-3=x 1
x=9 1
(ii) 6x—2=16 6x=16+2
6x=18 1
x=2x=3 1
6




